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Which of the following statements is true
for halving ?

(A} Thin strokes are halved toadd T

i

‘Kr’ is employed to represent for
Intersection :

(A)Y Corporation
\ 7 I

(B) Halving- is not used there is a final
vowel after T OR D

(C) The third position of a halving-stroke
is on the line, not through the line

(D) All of the above

Choose the contracted outline for the
word “representative” :

A N

o R

A small hook written with the Right
Motion represent

(A) Intro
(B) Instrument
©) In

(D) Intertainment

(B) Correct
(C) Courage

(D) Corrupt

The principal monetary units for
“pounds” is :

A) \o

(B) »~

A large initial hook written inside curve.

(A) U
(B) X
C) ‘N
(D) Shun
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The strokes of MP/MB is called  10. Which of the following are written in
strokes. both upward and downward direction ?
(A) Compound (A) R&H
(B) Alternative (B) L&Y
(C) Duplicate <) W&Y
(D) Explodent (D) R&L
A is a result of friction in 11. '.I"he principal monetary units for “dollars”
some parts of the mouth or throat. e
(A) Vowel (A) /o
(B) Consonant ® \»
(C) Diphone © L
(D) Diphthongs ®
12. Frequently occurring words in English

R (down) is employed to represent in
colloquial phrase for :

(A) arrow

(B) arrangement

Shorthand which are represented by
more than one stroke are called :

(A) Grammalogues

(B) Logograms

(C) arc (C) Contractions
(D) arrest (D) Phraseography
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13. There are long vowels in  16.

Consonants are based on straight and

shorthand. curved

(A) Seven (A) Strokes
(B) Six (B) Lines
(C) Nine (©) Dots
(D) Ten (D) Dash

17.

14. ‘SHL’ is always written
(A) downward
(B) onward
(C) upward

(D) backward

15. In which field study of stenography is 18,

important ?

(A) Medical

(B) Engineering

(C©) Court Reporters

(D) Al of the above

The best phraseogram are those combine
the qualities of :

(A) Lineality
(B) Facility
(C) Legibility

(D) All of the above

Pitman shorthand was first developed
in:

(A) 1936
(B) 1837
(C) 1838

(D) 1839
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19. The downward form of ‘H’ is used when  22. -ility, ality, ority, elty-, etc are represented

it is immediately followed by by disjoining the
or
N (A) Preceding stroke
(A) KorG
(B) Following stroke
(B) PorB
: (C) Halving the stroke
(C) CHYor]
(D) None of these
(D) ForV
23. ‘P’ is employed to represent for
20. A small final hook struck by the right intersection :
motion for
(A) Page
(A) F&V
(B) Party
(B) N
(C) Perform
© K
(D) Premium
(D) T
24. Initial or final “or” is written
21. In Prefix ‘self’ is represented by : when not followed by a vowel.
(A) Small circle (A) Upward
(B) Large circle (B) Downward
(C) ST loop (C) Both (A) and (B)
(D) Str loop (D) None of the above
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25. stroke in its plain unhooked 28. Consonants are written in
form is halved as normal for T. directions.
(A) EM (A) Three
() EN (B) Four
(C) ELL (C) Five
(D) All of the above (D) Six
26. Phraseography is writing of : 29. strokes cannot be halved in
their plain form.
(A) Two or more words without lifting
the pencil (A) EN
(B) By cutting another stroke (B) ELL
(C) Both (A) and (B) © ING
D) AR
(D) None of the above ®)
_ 30, ______ is added to the hook
27. A long front vowel is expressed by

a
(A) Dot
(B) Dash
(C) Hyphen

(D) Exclamation

“F” or “V” by writting the circle inside
the hook.

(A) Circle ‘S’
(B) ‘R hook
(©) ‘L hook

(D) ‘Shun’ hook
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31. Which of the following is true for strokes ~ 34. After curves, ‘F’ or 'V’ is represent
ELD and ARD ? by
(A) They are always downward (A) Hook
(B) They are always written upward (B) Stroke
(C) They are simple consonants (C) Circle
(D) None of the above (D) Loop
32. The abbreviation used for round number ~ 35. When preceded by vowel initial ‘R’ is
“Thousand” is : written
(A) ‘S Stroke (A) Upward
(B) ‘B’ Stroke (B) Downward
(C) ‘Th’ Stroke (C©) Horizontal
(D) ‘V’ Stroke (D) Straight
33. A sﬁaﬂ initial hook with left motion to 36. A small hook inside the curved strl'ike
straight strokes represent represents
(A) 'N A) N
(B) K (B) F
© © v
(D) ForV (D) L
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37. Downward HAY is used when : 40. Accom-mo- in the Dbeginning is

represented by K
(A) The H sound is the only consonant

in the word (A) Joined
(B) Itis before simple KAY, GAY (B) Disjoined
(C) Both (A) and (B) (C) Joined or disjoined
(D) None of the above (D) None of them
38. In the ‘N’ hook is sometimes 41. K/G are written
used to represent the words been, than,
on and own. (A) Horizontally
(A) Vowel (B) Upward
(B) Grammalogues (C) Downward
(C) Phraseography (D) Straight

(D) Diphthongs

42. Choose the contracted outline for the
word “Subscribe” :
39. ;D" is employed to represent for

Intersection : (A) X,ﬂ_.\

(A) Duty
“ (B) v\s—‘*\
(B) Discipline

© T
(C) Department
(D) Danger (D) k——
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43. A suffix is a common syllables occurring ~ 46. Choose the contracted outline for fie
at the of the word. word “Parliamentary” :
(A) Beginning
w N
(B) Middle
(C) End (B) f\\/‘/\
(D) Circle NS
© s~
44. HAY stroke is written ____ (D) All of the above
generally.
(A) Downward
(B) Upward
47. Choose the contracted outline for the
(C) Horizontal “ e
word “enthusiasm”.
(D) Straight
@ T~
45. The abbreviation used for round number
“Hundred” is : (B) \—S\
(A) P Stroke
(B) L Stroke © \‘S,\
(C) M Stroke
, (D) )
(D) N Stroke
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48. Strokes have vowel places. 50. A initial hook with right motion to
straight strokes represent

(A) Five (A) ‘R
(B) IL/
(B) Four
© N
(C) Three (D) F &'V
(D) Two

-00o0-

49. Which of the following is true for
doubling ?

(A) Straight strokes are doubled in
length.

(B) Curved strokes are doubled in
length but retain the same depth of
curve

(C) It is not used when the syllabus is
accented or a final vowel follows

(D) All of the above
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Note :
1.  Stenography (ENGLISH) 50 Marks
Each question carries 1 mark. All 50 questions are compulsory.

2. Indicate your answers on the OMR Answer-Sheet provided.

»

1/4 mark will be deducted for each wrong Answer.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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